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Section A (40 Marks)
I.    Fill in the blanks with appropriate words. The first letter of the appropriate word in  

      each case has been provided to help you. 

           
                         (10x1=10)

In every society, whether traditional or 1m____________, age is an indicator of the roles which a person is 2e____________ to play. In Western cultures, for 3e____________, we restrict certain activities such as the consumption of  4l____________, to those over a 5c______________ age. Becoming legally an 6a____________ is a matter solely of attaining a given chronological status. Subsequently, we pass 7t____________ various age-related status positions – middle-aged, elderly, etc. At each point we tend to form bonds and affiliations more readily with other 8m___________ of the particular age set we have reached than with members of 9o___________ age sets. Teenagers bond with         10 t_____________; the elderly find new opportunities for social ties in the clubs and institutions which cater for them.

II.  Read the passage and answer the questions that follow. In each case, choose the best option.                                                                             


Contrary to appearances, all the world does not know English. As many as six thousand languages are spoken, although it’s sadly true that the number drops every year. In some respects, languages are analogous to organisms like plants and animals. If, like plants and animals, their populations dwindle enough, they become extinct. 

English is not on the endangered list. It ranks second among mother tongue speakers and is the world’s premier auxiliary language. A December 2000 survey found that 56 percent of fifteen European Union member countries spoke English, 40 percent as acquired language. Nearly all countries’ TV ads were partly in English. English is an official language in more than forty countries and an ‘associate’ official language in India and Pakistan. 

English speaking countries, notably the United States and Britain, are accused of linguistic imperialism, even cultural genocide. But no matter how much English is used in business and the mass media, those who have it as a second language typically rely on their own tongue to communicate anything to do with family, friendship, and love. Although English is the dominant language in the Internet, it’s been estimated that more than 60 percent of those online have a different language.

Nonetheless, the dream of the nineteenth-century Polish medical doctor Ludovic Zamenhof has been fulfilled, but not in the way he hoped. Zamenhof invented Esperanto (from a Romance language root for ‘hope’), which was devoid of irregular verbs and almost free of tricky idioms. About three-quarters of its vocabulary derives from Romance languages. (An Esperanto sentence handy for customers is ‘Mi preferas plendi, dankon’ meaning ‘I prefer to complain, thanks.’) Esperanto has about fifty thousand fluent speakers. 

In the 1940s, C. K. Ogden and I. A. Richards compiled Basic English, a word list that consists of 850 words: one hundred for operations (come, be), four hundred for general things (motion, mountain), two hundred picturables (angle, sail), one hundred general qualities (able, free), fifty opposites (bitter, loud, hard, soft) with a few simple rules. But, although, it strongly influenced language teaching, Basic English didn’t fare any better than Esperanto in becoming a universal medium. 
       (Questions 11 to 15) Say whether the following statements are True or False
     (5x1=5)
11. Languages and life forms all behave in the same way.


……...


12. The passage suggests that non-native speakers of English prefer their own language to  express emotions.……...
13. More people have English as a second language than any other.

……...
14. Zamenhof wanted to invent a language that did not have the peculiarities of English.

……...
15. In the opinion of the writer, cultural genocide is worse than linguistic imperialism.

……...

(Questions 16 to 20) For each of these questions choose the best option and right its number in the brackets provided.






     (5x1=5)

16. What, according to the passage, is a cause for sadness?


       [
    ]
A. There are six thousand languages in the world which cause a lot of confusion.

B. Population control makes language die out.

C. Some languages are disappearing every year.

D. English is responsible for killing other languages.

17. According to the passage, all TV ads in European Union countries have English words in them because     [       ]
A. it has become fashionable to throw in some English words.      
B. most people in these countries know some English.

C. an English word in the ad guarantees sales.

D. people demand that some English words be present in the ad.

18. What did Ludovic Zamenhof do to make Esperanto easy?


        [       ]
A. He chose words that are easy to remember. B)He kept out English words.
C.     He excluded idioms and irregular verbs.    D)He anticipated all the language problems that a person can face.

19. What is the dominance of English based on?




        [       ]
A. English has been learned by many people all over the world and has often received official support.

B. English is peculiarly suited to the needs of the modern world.

C. English is quietly establishing itself by co-existing with other languages.

D. The Internet ensures that English spreads all over the world.

20. What does the passage suggest is a guarantee that other languages will survive the onslaught of the English language?





        [       ]
A. People who use English do not really like it.

B. English is used widely in business and the mass media, but not in other important aspects of life.

C. English is being popularized through British and US force, and will weaken once these countries weaken.

D. English is full of exceptions and confusing idioms.

III. A. Supply the missing part of the word in each of the following sentences.     (5x1=5)
21. Thanks to the Internet, it has become extremely easy to com__________ with each other.

22. A good command of the English language is seen as necessary for a bright fu__________. 

23. A businessperson tries to max__________ profits.

24. A lot of India’s problems are attributed to poor infra____________.

25. The phen___________ of black holes are yet to be completely understood.

III. B.  Fill in the blanks in the sentences below with words from the box. One word is extra.            (5x1=5)

symbolic
      elements
transition
random
   alternative
alternate

26. People believe that fate strikes at ____________ moments.

27. The Japanese tea ceremony is complex and has great ______________ value.

28. British football fans share some common ____________ with youth gangs in the United States.

29. In a large majority of traditional societies, the _____________ from one status to another involves some ceremony.

30. The reasons why long hair should be associated with protest and _____________ youth cultures are difficult to understand.

IV. Some lines in the passage below contain an error each. Underline the error and 

       write the correction in the space provided. One has been done for you.

                                               (10x1=10)
	The earliest examples in voluntary shaving of the beard appear to have
been connected to the desire off display “enslavement to a god.” Young
men would offer their beards as a sign of loyal submission for their
deities. Priests would shave off their beards for a symbol of humility.
But shaving on a more permanent and widespread base seems to have
been introduced in ancient Greece and Rome. Alexander the Great is
reputed to instruct his soldiers to  remove their beards in order
to improve their chances for close combat. It was considered that long
beards will make useful handholds for the enemy – as one sometimes
sees today in professional wrestle bouts. Roman soldiers were told
to shave their beards for reasons of  identification. Their shaven  chins
were easily distinguished from those of the hairy barbarians they
were fighting. There was too the question of hygeine, although it is not
certain what big a role this played.

	00) ____of____
31) __________
32) __________
33) __________
34) __________
35) __________
36) __________
37) __________
38) __________
39) __________
40) __________


Section B (20 Marks)
(Questions 41 to 57) Choose the correct answer in each case and write its number in the box provided. (17x1=17)
        41.Dr Watson is a fictional character created by …………. 

A) Charlie Chaplin
  B) Sherlock Holmes    C) Arthur Conan Doyle 
D) Agatha Christie


42. Vikram Sarabhai was a renowned…………….. 

A) scientist      B) actor 
C) medical doctor 
D) social reformer 
43. This city is on the bank of the Themes River




A) London
B) Paris 
     C) Munich 
D) Rome 
  

44. …….. headed the committee that drafted the Constitution of independent India.

A) Pandit Nehru 
B) Dr B. R. Ambedkar  C) Vallabhbhai Patel   D) Lord Mountbatten



 45. Fidel Castro recently stepped down as the President of …….                  

A) Venezula 
B) Poland  
C) Spain 
      D) Cuba 
 

46. The director of the movie Jurassic Park is


A) Steven Spielberg   B) Clint Eastwood      C) Terry Eagleton    D) Jack Nicholson
47. NASA is an organization that is related to 



A) international peace   B) space research      C) Olympics        D) medicine

48. Vladimir Kramnik is a ……… player

A) tennis
   B) soccer 
C) golf 
D) chess



49. The scientist considered to be the father of modern experimental science

A) Galileo  
B) Newton 
C) Louis Pasteur  
D) Einstein
50. Sir William Jones is remembered for the contribution he made to

A) medicine
B) anthropology 
C) philology 
D) aesthetics


51. Paleontology is a science that deals with the study of 

A) fossils 
B) climate 
C) writing systems 
   D) crime detection 

 


52. Hippocrates oath is related to the profession of 

A) law
B) medicine
C) military 
D) sailors
53. “Earth provides enough to satisfy everyman’s need, but not everyman’s greed”  Who said this?

A) Karl Marx 
B) Albert Einstein 
C) Martin Luther King Jr 
D) Mahatma Gandhi 

54. Condoleeza Rice is 

A) the US State Secretary 
B) a kind of high yielding rice

C) a pop singer 

D) a dam in the US
55. Raj Ghat is associated with 

A) C. Rajagopalachari              B) Mahatma Gandhi

C) Raja Ram Mohan Roy 
D) Rajiv Gandhi 

  

56. “My dear brothers and sisters of America,” -Who began his famous speech at the Parliament of Religions with    

        this address?

A) Maharshi Mahesh Yogi
B) Abraham Lincoln    
 C) Swamy Vivekananda 
D) Dr B. R. Ambedkar 
57. The atomic number of an element indicates the number of ….. in an atom.

A) protons
B) neutrons 
C) the number of protons minus the number of neutrons

D) the number of electrons added to the number of protons

(Questions 58 to 60) Expand the following abbreviations



     (3x1=3) 


58. SAARC?   
Ans: …………………………………………….


59. DNA?               
Ans: ……………………………………………..


60. OPEC?
Ans: ………………………………………………..


(Blank Page)
                                                     Section C (10 Marks)
(Questions 61 to 67) Choose the correct answer in each case and write its number in the box provided.        (7x1=7)


61. Sachin is younger than Rahul by four years. If their ages are in the ratio 7:9 how  old is Sachin?


A) 16 yrs
     
B) 18 yrs

C) 28 yrs 
        D) 14 yrs




 62. Identify the wrong number in the sequence:  16, 36, 64, 100, 144, 190, 196


A) 64 
B) 100 
C) 190 
D) 144




 


63. One card is drawn from a pack of 52 cards. What is the probability that the card  drawn is either a black card    

                       or a king.


A) 1/2

B) 6/13 

C) 7/13

D) 27/52




 64. The length of one pair of opposite sides of a square is increased by 5 cm on each side. If the ratio of the newly   

        formed rectangle is 3:2 what is the area of the  original square?


A) 25 cm2 
B) 81cm2 
C) 100 cm2 
    D) 49 cm2




65. A train traveling at 50 kms per hour leaves Bhopal for Delhi at 7 am and another train traveling at 40 kms per hour leaves Delhi for Bhopal at the same time. Both trains run non-stop. When the two trains cross each other, the first train has  traveled 100 kms more than the other train. Calculate the distance between Bhopal and Delhi.


A)  900 kms     B) 600 kms
C) 750 kms          D) insufficient information for calculating the distance
66. Identify the one that does not belong:

 
A) German 
B) France 
C) Italian 
D) Portuguese



67. Identify the one that does not belong


A) hen
B) kitten
  C) cub
 D) fawn




 

(Questions 68 to 70) Answer the questions on the basis of the information given below. In each case choose the best option and write  its number in the box provided.    (3x1=3)
Seven university basket ball players ( A, B, C, D E, F and G)  are to be felicitated at a special luncheon. The players are to be seated on the dais in a row. A and G have to leave the luncheon early and so must be seated at the extreme right. B will receive the most valuable player’s trophy and so must be in the centre to facilitate the presentation. C and D are bitter rivals and must be seated as far apart as possible. 
68. Which of the following cannot be seated at either end?


A) C
B) D
C) F
D) G




 

69. Which of the following pairs cannot be seated nest to each other?


A) B & D          B) C & F
C) D & G
       D) E &A




 
70. Which of the following pairs cannot occupy seats on either side of B?


A) F & D           B) D & E
C) E & G         D) C & F



 

Section D (20 Marks)
(Questions 71 to 90) Choose the correct answer in each case and write its number in the box provided.
     (20x1=20)
71. “Life is a tale told by an idiot full of sound and fury signifying nothing” These lines are from Shakespeare’s 


A)  Othello
B)  Macbeth
C)  King Lear 
D)  Hamlet
72. One Hundred Years of Solitude is a novel by

A) Albet Camus    B) James Joyce       C) Marquez           D) Balzac


73.Who is the writer known as the “Nightingale of India”? 


A)  Sarojini Naidu
    B)  Rabindranath Tagore
C)  Toru Dutt       
D)  Kamla Das

74. Coleridge, Wordsworth, Shelley and Keats belong to the group of 

A) Romantic poets     B)Pink poets 
C)Neoclassicists     D)Modernists
75. The Divine Comedy is by

A) Virgil 
B)Sophocles 
C)Goethe 
D)Dante



76. Things Fall Apart is a novel in English written by 

A) an African writer    B)an American writer     C)an Indian writer        D)a Canadian writer 

77. Alice in the Wonderland is by

A)  J. K. Rowling
  B)  Charles Dickens      C)  Edward Lear       D)  Lewis Carroll

78. Raskolnikov is a character in 







A)  War and Peace 
    B)  Crime and Punishment 
    C)  Mother      D)  Archipelago
79. A sonnet is a poem that has 

A) 14 lines      B)24 lines 
 C)22 lines    D)could be of any length

80. The God of Small Things by Arundhati Roy won the  

A)  Sahitya Akademi prize 
B)  Booker Prize 
C)  Nobel Prize 
D)  Gyanpeeth award

81. A soliloquy in a play is 


A)  spoken by a single actor            B)  sung by a group of actors
 




C)  heard from behind the scene     D)  spoken by two actors taking turns


82. “A thing of beauty is a joy for ever” is the opening line of a poem by

A)  William Wordsworth 
B)Alfred Lord Tennyson    C)  John Keats    D)  P. B. Shelley

83. Malgudi is a fictional locale created by

A) Vikram Seth
   B)R. K. Narayan
  C)Ruskin Bond 
D)Raja Rao

84. “Where the mind is without fear and head is held high” is the beginning of a poem by  

               A)  Sri Aurobindo
B)  Tagore      C)  Bankim Chandra Chatterji   D)  Sarojini Naidu

85. Mother Courage is a play by  









A)  Sartre            B)  Ibsen 
 C)  Goethe      D)  Bertolt Brecht


86. Swapnavasavadattam is a Sanskrit play authored by


A)  Bhavabhooti
 B)  Bhasa 
C)  Kalidas
D)  Sree Harsha

87. Blank verse is 

A)  another name for prose used in plays

B)  a form of verse used in plays (mainly) in the 16th and 17th centuries 
C)  a form of verse that leaves certain blanks for the actors to improvise 
D)  is a mixture of prose and verse



88. Catharsis means


A)  imitation   B)  misfortune
  C)  dramatic intensity     D)  a purging of excessive emotions

89. …………… was a contemporary of William Shakespeare.


A)  Marco Polo
B)  Julius Caesar
C)  Charles Dickens      D)  Queen Elizabeth I 


90. The movie My Fair Lady is based on a play by


A)  W. B. Yeats      
B)  W. H. Auden
C)  George Bernard Shaw
D)  Stephen Spender

(Blank Page)
Section E (10 Marks)
91. Write a short essay (in not more than 250 words) on any one of the following:   (10)
a) Democracy has its drawbacks, of course, but it is by far the best form of government. Argue for or against this statement.

b) “Beauty is in the beholder’s eye rather than in the object beheld.” 

c) The need to produce good children’s movies in Indian languages.

      (write your essay here)
2
3

